2023 AEFWINE SR LIRS

= — Kby it4 3 B
5 _FE R FEIRT
GRFR T R— &
(#3120 4 XA H 150 4)

Al

I BT, A 5Ll AT s EFES FYFAEELEF L,
2 AR, kA ARG, AL M Lt AR 64 E A
THE, AT 46, B L EEEAS . B8R EM, K2
E,BEARE LR,
3. FRE KB, BAREREAF—HRW,
—GEFRF (AT 8 NE, B/NES5 o, £ 40 4. EE/NMNFEHOEANET B, IE—EHF
BEEERH. )
L FHR S IER Y 2

Dy

A. (sinx)’' = - cosx B.(ln3)'=L C.(2) =x-2"" D.(L)’=—L2
3 x X
2. LR C:x® =4ay 32 ( -250) S0 C MEL TR
A y=1 B.y=-1 C.x=1 D.x= -1

. P N N 2 -
3. A FTHINMIA TATE Lix+ (a-1)y+2=0,L:ax +2y +1 =0 Iﬂﬂ‘]ﬂﬁ%j}ﬁl,ﬂlﬂ%@a =

A2 B. -2 1 €. -1 D. -1 82
4. FEE B {a, Y0, CH aja; =40, =256, 0] a; 5T
A.128 B. 128 & ~'128 C. 64 % — 64 D. 64

5. FRELy =/f() BT R By = 1() B R BRI R T B, U

A =3 2Ry = f(x) BIBRAE
B.y =f(x) fEIX[A] ( =3,1) b HLi b
C. =1 JERR%y =/ () B/ ME K
D.y =f(x)7E x =0 eI RL RN TF
6. CAIBREL /() /L f(0) =2, f" () <f(x) AT f(w) <2 N
A. (1, +00) B. ( -x,0) C. (0, +o) D.( -—oo,1)

ZHEBHKFEM F1IR O (E4W)

I



7 LR, a0 yyds” T S A B TR f(x) =" (x) B SEEORR o MY AR AR
SC) B i P 507 R g () = €' =, h(x) =Inx,@(x) =1024x + 1024 {95 510508 a,
bye, W a,b,c RNKERN
Ab>a>c B.a>b>c C.e>a>b D.c>b>a

2 2
8. a%u%ﬁlz—z *ZT =1(a>b>0) WM ESSH N F F,, % P B - — &, (£ AF,PF,

T P ANIS TSR o 1 i F P 5M0 L 09TR2k, 36 2 50000 R, S, %
15 P MG LSE SN, A5 S BRI U I L

A d B. 44’ C. wa’ D. 4ma’
= EIRE (A 4 AN, BNE S 5,320 5. ESNESHOEAN R, SRS

AEEERN, SMAIE S 5, BALIE 2 5, FHEEHE0 5. )
9. CAHIML Coma® +my” =1, 10

A Em=n>0, MMk C 2B, 2R/

B. 5 m>n >0, W2k C MR, Hl e y i

C.# M C LA~ 2.3) (2500 i ¢ sz

D. 5 mn =0, M2k C AR ATMTEE
10. BHIAZEN d WEEZERE a, }, HHT n BN S, , H Sy >0,S,, <0, W R 52598 ER 1
A {a, iR

Bﬁﬂﬁ%ﬁﬁm
C. % S, BB n =6
D. %, =2 I d O Y 6

>
L CRBRH o) BOERBH (o) 05 SURET R, I g () =/ () 75 /(5 ~20) (2 +)
510
A g( —%) -0 B. £(0) =0
CAC=1) =f(4) D.g(-1) =¢(2)
12. BAIRAS(x) =In(x = 50) +sinw +cosx, FIBEA EH0AT
A. LS C0) R R A B. B S ) A — A
C. BRHILS o) F T4 D. BRHL o) £ (5 LAt R A

= R (AL 4 NE, BINES 53,320 53 )
13. CHIPREL f(x) =ax —a —Inw, H () B E/MEN 0,00 @ B{E A :

ZHEBHKFEM F2R O (E4W)

)



14, CHHIPIZE »° =2y (FESCH F, 880 M(3,6) , 51 Q TEMLR L, M1 MQ| + 1 QF | (¥ e/ ME K

15, B A(x) = = =3 Al A0+ 1) LRI, WSS (6 6%

n

16. CHIHS {a, 1L 0, =10, =2, 20

(neN"), WS2EA fEBUEE N
MO EEE (AR 6 NN, 70 o BENSHAEHN PR, EAIRIRESR )
17. (AN 53 10 41)

SRR TSR E LR L — a5 R

(DA EE L 20 -y +9=0,05,:3v +2y +3 =0 BYZL ki P, HE 1(2,4)

(2) HHZ L :3x -y =0 e, HAR Q(2, -5) B HLR | (EEEY V/10.

n+27%(” +2)an’/\(n2 +2n) E‘J%ﬁqjlﬁ,% Ay, i1 >y,

18. (A/ N 73 12 43 )

Eﬁﬁu{an}qj Sa] :%’an+l +2an,an+l _an :O’nEN*.

<niﬁ{1$¥%§wm#ﬁﬁWWJ%ﬁmxﬁ;

all

(2)¥e b, =a, * a,.,,KREBI{b, HYHT n IS,

19 CA /M 12 5)
2 2
CAIHB G55+ 2 = 1(a> b >0) i MR (~3.0) HBLH NS
a

(1)K C )7 B
(2) HLWAIE C (97 B2 5 WAL ARy 60° 0 26 IR ZE T A, B W A1, 0 A A IS4, oK
AAOB BT





